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LT 2: Patterns/Modeling
LT 4: Solving

1. Use the graph below to answer the following questions.
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2. Graph each function on the same graph below:

= (-7 -4 . i . .
a. f(x) = (x+2)2-4 v : d. Write the piecewise function for h(x)
b.g(x) = |(x+2)2 — 4l ((x+2)-4) -2 X<-Yandx20

Ch(x) = [(x+2)2—4]-2 ﬁ(x\:
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3. Graph the piecewise function:

-2x x<-=-3
fx)={~x+3 -3<x<0 }
3 x=0

4. Graph the fol!owing function and give the piecewise function

fe) =lx—2(-3

Piecewise Function:

X-2)-2 X2 2

-(x-25-3  x< 2
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5. Show the inverses to the following function through equations, tables, and graphs. Please
label your graphs showing which is the original function and which is the inverse:

Xtz L ‘
a. f(x)=2x-2 Inverse: f1(x} = 5 o7 2XE }
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6. Solve each function to find its inverse.

a. g(x}=x2+4 LA™Y Y Inverse: gi(x)= 1 X~
e
o y
f . Xt g, /
b. h{x) =- 3x-6 X o mgw‘\ ~{g Inverse: h1(x) = ~7% o - T x - 9}
Ktlow -3y
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c. j(x)=%x+8 X = ‘“ti\?; + ¥ Inverse: j1(x) = 7 (- i

d. p(X) = (1, 2]! (31 '1): (9, 7)' ('6, 5]: (4: %)
Inverse: pi(x)=(Z,1) €¢1.3 (1.7) (5-9 (% )



